1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

[FASTENER #1E] (2) PER ENDLAP
© TRAPEZOIDS

1/4-14 x 5/8 LONG-LIFE
TYPE B' SELF-TAPPER

W/WASHER [FASTENER #46]
(6) PER ENDLAP

FASTENER SEQUENCE @ ENDLAP

8le

UPPER PANEL:

LOWER PANEL/

PANEL INSTALLATION SEQUENCE

ZE
N

1/4-14 x 5/8 LONG-LIFE
"TYPE B' SELF-TAPPER
W/WASHER [FASTENER #46]
ag PER 24 PANEL

8

5) PER 18" PANEL

4) PER 12 PANEL

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (2) PER ENDLAP
@ TRAPEZOIDS
DOUBLE-LOK PANEL
(PREPUNCHED)

TRI-BEAD TAPE SEALER [HW-504]
CONT. ACROSS PANEL QVER
PRE-PUNCHED HOLES

NOTE:

APPLY TRI-BEAD TAPE SEALER
OVER THE NOTCHED PORTION
OF THE MALE LEGS

LOW SLIDING CLIP

[Hw-2122]

DOUBLE-LOK PANEL BACKUP PLATE
(PREPUNCHED) [HW-7760] 24" PANEL
BEARING PLATE [HW-7769] 18" PANEL
[HW-7500] [HW=7761] 12" PANEL

VAPOR BARRIER
(NOT BY MBCI)

RIGID INSULATION
(NOT BY MBCI)

—
(METAL DECK )
MIN. GAUGE THICKNESS
14-10 x ___ DECK
SCREW [FASTENER #15_] (NOT BY MBCI)
(2) PER CLIP

(MIN. 3/4" PENETRATION
INTO METAL DECK)

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (2) PER ENDLAP

VISE GRIP®
LOCKING PLIERS

TRI-BEAD TAPE SEALER
[HW-504]

1/4-14 x 5/8 LONG-LIFE
“TYPE B' SELF-TAPPER
W/WASHER [FASTENER §46]
(6) PER ENDLAP



1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (11) PER ENDLAP

FASTENER SEQUENCE @ ENDLAP

DOUBLE-LOK PANEL
(PREPUNCHED)

VISE

1/4-

LOWER PANEL

PANEL INSTALLATION SEQUENCE

SELF-
[FASTENER #1E] (1) PER ENDLAP

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

11) PER 24" PANEL
7) PER 18" PANEL
12 6) PER 12" PANEL
DOUBLE—LOK PANEL
(PREPUNCHED)

TRI-BEAD TAPE SEALER [HW-504]
CONT. ACROSS PANEL OVER
PRE-PUNCHED HOLES

NOTE:

APPLY TRI-BEAD TAPE SEALER
OVER THE NOTCHED PORTION

OF THE MALE LEGS

1/4-14 x 1 SELF-DRILLER
W/WASHER [FASTENER #1]
(2) PER INSIDE CLOSURE

METAL INSIDE CLOSURE
[HW-426]

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)
METAL DECK

(MIN. GAUGE THICKNESS)
(NOT BY MBC)

LOW MID-SLOPE FIXED
PLATE [CF-?]

14-10 x ___ DECK SCREW
[FASTENER #15_]
@ 24" 0.C.

(MIN. 3/4" PENETRATION
INTO METAL DECK)

GRIP ®

LOCKING PLIERS

TRI-BEAD TAPE SEALER
[HW—

504]

14 x 1 1/4 LONG-LIFE
DRILLER W/WASHER



DIM. NO

)
(6" MAX.) FASTENERS
NOTE:
REFERENCE TYPICAL TRIM EXPANSION JOINT TRIM
LAP SECTIONS [SF—7]
TRI-BEAD TAPE SEALER
TRI-BEAD TAPE SEALER [HV-504]
[HW-504]
EXPANSION JOINT CLEAT

1/4=14 x 1 1/4 LONG-LIFE [SF-7]
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 24" 0.C. / 1/4-14 x 1 1/4 LONG-LIFE
3 SELF-DRILLER W/WASHER
DOUBLE-LOK PANEL LOW RAKE_SUPPORT ANGLE [FASTENER #1E] @ 247 O.C. DOUBLE-LOK PANEL
[HW-7710] 2 x 4 x 16 GA ANGLE
N N‘

J | \
VAPOR BARRIER 14-10 x __ DECK 1/4-14 x 1 1/4 SHOULDER/ RIGID INSULATION

(NOT BY MBCI) SCREW [FASTENER #15_] TEK 2 SELF-DRILLER (NOT BY MBCI)
@ 24 0. [FASTENER #5] @ 24" 0.C. METAL DECK
‘(NMT\(N) MsE/Tz;L PDEENCEKT)RAT\ON (CENTERED IN SLOT) (MIN. GAUGE THICKNESS)
STRUCTURAL ANGLE (NOT BY MBC)

(NOT BY MBCI)

3/8"




DOUBLE-LOK PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

TRI-BEAD TAPE SEALER
[HW-504]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 24” 0.C.

LOW RAKE_SUPPORT ANGLE
[HW-7710]

DIM.

NO FASTENERS

(6" MAX.)

SLIP JOINT TRIM [SF-_]
TRI-BEAD TAPE SEALER
[HW-504]

PARAPET RAKE CLEAT
[FL-292]

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 24” O.C.

2 x 4 x 16 GA. ANGLE /DOUBLELOK PANEL

3/8"

VAPOR BARRIER
(NOT BY MBCI)

14-10 x __ DECK
SCREW [FASTENER #15_]
@ 24" 0.C.

(MIN. 3/4” PENETRATION
INTO METAL DECK)

1/4=14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24 0.C.

(CENTERED IN SLOT)

RIGID INSULATION
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)



1/4-14 x 1 1/4 LONG-LIFE AN
SELF-DRILLER W/WASHER
[FASTENER #1E] (8) PER PANEL

FASTENER SEQUENCE @ EAVE

AL PANEL 1/4=14 x 1 1/4 LONG-LIFE

WRIES W/

THICKNESS

ROOF SLOPE

MINOR RIB TAPE SEALER ,
AT ALL MINOR RIBS
[HW-512]

=1
!

TRI-BEAD TAPE SEALER [HW-504]
@ TOP OF CLOSURE

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@
PRE-PUNCHED HOLES

6) PER 24" PANEL

5) PER 18" PANEL

4) PER 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]
BOX PANEL CAP TRIM [FL-272]
1/8 x 3/16 POP RIVET

[FASTENER #14]
@ 3-0" 0.C.

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" 0.C.

OUTSIDE CLOSURE
WALL PANEL——=

BN =

0

— DLATE (CF— (MIN. GAUGE THICKNESS)
SCULPTURED EAVE TRIM = (CF-) (NOT BY MBCI)
[FL-251] U 1/4-14 x 1 SELF-DRILLER

A A W/WASHER [FASTENER #1] JATOR BARRIER
@ 12" 0.C.

SELF-DRILLER W/WASHER
[FASTENER #1E]

8) PER 24” PANEL

57 PER 18" PANEL

6) PER 12" PANEL

2" LONG TRI-BEAD TAPE SEALER
[HW-504] @ PANEL RIBS OVER
INSIDE CLOSURE

METAL INSIDE CLOSURE
[HW-426]

1/8 x 3/16 POP RIVET
[FASTENER #14]

@ 5'-0" 0.C.

LOW FIXED EAVE PLATE
[HW-7600]

3" x 5" x 14 GA. BENT

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER

[FASTENER #16]@ 12" 0.C.

1/4-14 x 1 SELF-DRILLER
W/WASHER [FASTENER #1]
(2) PER INSIDE CLOSURE

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION

(SEE PLAN)

DOUBLE-LOK PANEL

RIGID INSULATION
(NOT BY MBCI)

METAL DECK

(NOT BY MBCI)



1/4-14 x 1 1/4 LONG-LIFE N
SELF-DRILLER W/WASHER
[FASTENER #1E] (8) PER PANEL

FASTENER SEQUENCE @ EAVE

nL P ANEL

RS W/ THICKNESS 1/4=14 x 1 1/4 LONG-LIFE
ROOF SLOPE SELF-DRILLER W/WASHER
[FASTENER #1E]

8) PER 24" PANEL
7) PER 18" PANEL 12
6) PER 12" PANEL

2" LONG TRI-BEAD TAPE SEALER
[HW-504] @ PANEL RIBS OVER
INSIDE CLOSURE

MINOR RIB TAPE SEALER

AT ALL MINOR RIBS FAHEVKLM‘%S‘DE CLOSURE DOUBLE-LOK PANEL
[HW-512]

LOW FLOATING EAVE PLATE

[HW-7617]

TRI-BEAD TAPE SEALER [HW-504]
@ TOP OF CLOSURE

1/4=14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@

' / g
PRE-PUNCHED HOLES "{//_ joo:
6) PER 24" PANEL '
5) PER 18" PANEL ‘ — —

S N e

4) PER 12" PANEL

P i - R -‘

IR e
TRI-BEAD TAPE SEALER \-‘¢ ’
[HW-504] G- T

SCULPTURED EAVE TRIM

RIGID INSULATION
(NOT BY MBCI)

S, 3 % 5" x 14 GA. BENT METAL DECK
[FL-251] \ = PLATE (CF—_) (MIN. GAUGE THICKNESS)
12-24 x 1 1/4 LONG-LIFE TEK 45 g ;E/EEMSXESF *D/RﬁLfEHROULDER (NOT B MBCY
- VAPOR BARRIER
W/WASHER [FASTENER #78] IEASTENER 51 6 12 0. R

1/4-14 x 7/8 LONG-LIFE LAPTEK (CENTER IN SLOT)
W/WASHER [FASTENER #4]@ 12" O.C. 19-24 x 1 1/2 PAN HEAD

TEK 4.5 SELF-DRILLER
[FASTENER #16]@ 12" 0.C.

WALL PANEL 1/4-14 x 1 SELF-DRILLER
W/WASHER [FASTENER #1]
(2) PER INSIDE CLOSURE

STRUCTURAL ANGLE
(NOT BY MBCI)

OUTSIDE CLOSURE

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION
(SEE PLAN)




1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (8) PER PANEL

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

2 8
FASTENER SEQUENCE @ EAVE
GUTTER STRAP [FL—246]
w//444 X E/s LON&;\F}E LAPTEK
W/WASHER [FASTENER #4
(3) PER STRAP | Py /TR [FASTENER #1E]

WAL

MINOR RIB TAPE SEALER
AT ALL MINOR RIBS
[HW-512]

TRI-BEAD TAPE SEALER [HW-504]
@ TOP OF CLOSURE

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]
(3) PER STRAP

PREPUNCHED HOLES IN PANEL

& EH =77
\Y 4

THICKNESS

/4=14 x 7/8 LONG-LIFE LAPTEK

/414 x 1 SELF-DRILLER

1/4-1
W/WASHER [FASTENER #4]@ 12" 0.C.
1/4-1
W/WASHER [FASTENER #1]

)

1/8 x 3/16 POP RIVET
FASTENER #14]

@ 5-0" 0.C.

SCULPTURED GUTTER [FL-241A]

FLOATING EAVE TRIM [F2952]

(2) PER INSIDE CLOSURE
[

1/4-14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 12" 0.C.

OUTSIDE CLOSURE

WALL PANEL——————————

8) PER 24" PANEL
7) PER 18" PANEL
6) PER 12" PANEL

2" LONG TRI-BEAD TAPE SEALER
[HW-504] @ PANEL RIBS OVER
INSIDE CLOSURE

METAL INSIDE CLOSURE

[HW-426]

GUTTER STRAP [FL—246]
@ 4-0" 0.C. MAX.
TRI-BEAD TAPE SEALER
[HW-504]

LOW FLOATING EAVE PLATE
[HW-7617)

3" x 5 x 14 GA. BENT
PLATE [CF—_]

1/4-14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 12 0.C.
(CENTER IN' SLOT)

12-24 x 1 1/2 PAN HEAD

TEK 4.5 SELF-DRILLER
[FASTENER #16] @ 12" 0.C.

12-24 x 1 1/4 LONG-LFE TEK 4.5
W/WASHER [FASTENER #78]

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION

(SEE PLAN)

DOUBLE-LOK PANEL

RIGID INSULATION
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NoT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)



8/t

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4] SPACED
1°1/2” FROM PANEL SEAMS, W/
INTERIOR FASTENERS CENTERED
OVER MINOR RIBS (77 0.C. MAX.)
(NO FASTENER @ PANEL SEAM)

TRI-BEAD TAPE SEALER [HW-504]
LOW SLIDING CLIP [HW-2122]

BEARING PLATE [HW-7500]
DOUBLE—-LOK PANEL

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBC)

FL
WAL PAN
THICKNESS

14-10 x ___ DECK
SCREW [FASTENER #15_]
(2) PER CLIP

(MIN. 3/4” PENETRATION

INTO METAL DECK)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION
(SEE PLAN)

URETHANE SEALANT [HW-54_]
@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (3) PER PANEL

METAL OUTSIDE CLOSURE
[HW-430] 24" PANEL
[HW-432] 18" PANEL
[HW—442] 12" PANEL
BACK-UP PLATE
[HW-7760] 24" PANEL
[HW-7769] 18" PANEL
[HW-7761] 12" PANEL

EH = 22"
&

TRI-BEAD TAPE SEALER [HW-504]

X

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @
PRE-PUNCHED HOLES

6) PER 24" PANEL

55 PER 18" PANEL

4) PER 12" PANEL

SCULPTURED HIGH EAVE TRIM
[

1/4=14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" O.C.

OUTSIDE CLOSURE
~—— WALL PANEL




8/¢

RIGID INSULATION
(NOT BY MBC)

VAPOR BARRIER
(NOT BY MBC)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)

12
—

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4] SPACED
1°1/2" FROM PANEL SEAMS, W/
INTERIOR FASTENERS CENTERED
OVER MINOR RIBS (7" 0.C. MAX.)
(NO FASTENER @ PANEL SEAM)

TRI-BEAD TAPE SEALER [HW-504]
LOW SLIDING CLIP [HW—2122]

DOUBLE—-LOK PANEL

BEARING PLATE
[HW-7500]

14-10 x DECK

SCREW [FASTENER #15_]

(2) PER CLIP

(MIN. 3/4" PENETRATION

INTO METAL DECK)

0/0 DIMENSION

(SEE PLAN)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

CONT. URETHANE SEALANT
[HW-54_]

COUNTERFLASH [FL-341]

PARAPET HIGH EAVE
FLASHING [FL—275]

BRICK WALL
(NOT BY MBCI)

/ FIELD SAWCUT

| TRI-BEAD TAPE SEALER
[HW-504]

14-10 x 2 DECK SCREW
/[FASTENER #209] @ 24" 0.C.

(PRE-DRILL)

URETHANE SEALANT [HW-54_]
@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4=14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER

[FASTENER #1E] (3) PER PANEL

|__— METAL OUTSIDE CLOSURE
[HW-430] 24" PANEL

[HW-432] 18" PANEL

[HW-442] 12" PANEL
BACK-UP PLATE

[HW-7760] 24" PANEL
[HW-7769] 18" PANEL
[HW-7761] 12" PANEL

™~ TRI-BEAD TAPE SEALER
[HW-504]

1/4-14 x 5/8 LONG-LIFE
TYPE B’ SELF-TAPPER
W/WASHER [FASTENER #46]
@ PRE-PUNCHED HOLES
6§ PER 24" PANEL

5) PER 18" PANEL
4) PER 12" PANEL




RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)

URETHANE SEALANT [HW-54_]
@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4] SPACED
1°1/2" FROM PANEL SEAMS, W/
INTERIOR FASTENERS CENTERED
OVER MINOR RIBS (7" 0.C. MAX.)
(NO FASTENER @ PANEL SEAM)

TRI-BEAD TAPE SEALER [HW-504]
LOW SLIDING CLIP [HW-2122]

DOUBLE-LOK PANEL

BEARING PLATE
[HW-7500]

14-10 x ___ DECK

SCREW [FASTENER #15_]

(2) PER CLIP

(MIN. 3/4" PENETRATION

INTO METAL DECK)

0/0 DIMENSION

(SEE PLAN)
NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

WALL PANEL ——————————

INSIDE CLOSURE

PARAPET HIGH EAVE
FLASHING [FL-2__]

2 x 4 x 16 GA. ANGLE

12-14 x 1 1/4 LONG-LIFE SELF—
DRILLER W/WASHER [FASTENER #3]

1/4-14 x 1 1/4 SELF-DRILLER
W/O WASHER [FASTENER #1B]
@ 12" 0.

/WALL GIRT

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (3) PER PANEL

| METAL OUTSIDE CLOSURE
[HW-430] 24" PANEL

[HW-432] 18" PANEL
- [HW-442] 12" PANEL
\ T BACK-UP PLATE

[HW-7760] 24" PANEL
[HW-7769] 18" PANEL
[HW-7761] 12" PANEL

TRI-BEAD TAPE SEALER
[HW-504]

1/4-14 x 5/8 LONG-LIFE
"TYPE B" SELF-TAPPER

W/WASHER [FASTENER #46]
@ PRE-PUNCHED HOLES

6) PER 24" PANEL

5§ PER 18” PANEL

4) PER 12" PANEL




12
——

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4] SPACED
1°1/2" FROM PANEL SEAMS, W/
INTERIOR FASTENERS CENTERED
OVER MINOR RIBS (7" 0.C. MAX.)
(NO FASTENER @ PANEL SEAM)

TRI-BEAD TAPE SEALER [HW-504]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6” 0.C.

LOW SLIDING CLIP [HW-2122]
BEARING PLATE [HW-7500]
DOUBLE-LOK PANEL

RIGID INSULATION
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

14-10 x ___ DECK
SCREW [FASTENER #15_]
(2) PER CLIP

(MIN. 3/4” PENETRATION
INTO METAL DECK)

0/0 DIMENSION
(SEE PLAN)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

CONT. URETHANE SEALANT
[HW-54_]

COUNTERFLASH [FL-341]

PARAPET HIGH EAVE
FLASHING [SF—_]

BRICK WALL
(NOT BY MBCI)

| FIELD SAWCUT

-~ TRI-BEAD TAPE SEALER
[HW-504]

; 14-10 x 2 DECK SCREW
" [FASTENER #209]© 24 0.C.

(PRE-DRILL)
PERFORATED VENT DRIP [FL-254]

/URETHANE SEALANT [HW-54_]
@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO

SEAL ALL VOIDS

; /W/444 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER
[FASTENER #1E] (3) PER PANEL

|_— METAL OUTSIDE CLOSURE
[HW-430] 24" PANEL
[HW-432] 18" PANEL
[HW-442] 12" PANEL

BACK-UP PLATE

[HW-7760] 24" PANEL
[HW-7769] 18" PANEL
[HW—=7761] 12" PANEL

[ TRI-BEAD TAPE SEALER
[HW-504]

1/4-14 x 5/8 LONG-LIFE

'TYPE B SELF-TAPPER
W/WASHER [FASTENER #46]
@ PRE-PUNCHED HOLES

6) PER 24" PANEL

5§ PER 18" PANEL

4) PER 12" PANEL




12
—

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4] SPACED
11/2" FROM PANEL SEAMS, W/
INTERIOR FASTENERS CENTERED
OVER MINOR RIBS (7" 0.C. MAX.)
(NO FASTENER @ PANEL SEAM)

TRI-BEAD TAPE SEALER [HW-504]
1/4=14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 6" O.C.

LOW SLIDING CLIP [HW-2122]
BEARING PLATE [HW-7500]
DOUBLE-LOK PANEL

RIGID INSULATION
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

14-10 x ___ DECK
SCREW [FASTENER #15_]
(2) PER CLIP

(MIN. 3/4” PENETRATION
INTO METAL DECK)

0/0 DIMENSION
(SEE PLAN)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

CONT. URETHANE SEALANT
[HW-54_]
COUNTERFLASH [FL-341]

PARAPET HIGH EAVE
FLASHING [SF-_]

BRICK WALL
(NOT BY MBCI)

|~ FIELD SAwCUT

_~— TRI-BEAD TAPE SEALER
[HW-504]

4-10 x 2 DECK SCREW

: 1
" [FASTENER $209] @ 24” OC.
(

PRE-DRILL)
METAL VENT MATERIAL [HW-525]

k / URETHANE SEALANT [HW-54_]

@ CLOSURE ENDS/PANEL RIB

& LAPPING CLOSURE TABS TO

SEAL ALL VOIDS

L 1/4=14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER

[FASTENER #1E](3) PER PANEL

|_— METAL OUTSIDE CLOSURE
[HW—430] 24" PANEL

[HW-432] 18" PANEL

[HW-442] 12" PANEL

BACK-UP PLATE

[HW—7760] 24" PANEL
[HW—7769] 18" PANEL
[HW-7761] 12" PANEL

T~ TRI-BEAD TAPE SEALER
[HW—504]

™S 1/4-14 x 5/8 LONG-LIFE

'TYPE B’ SELF-TAPPER
W/WASHER [FASTENER #46]
@ PRE-PUNCHED HOLES

6
5
4

PER 18" PANEL
PER 12" PANEL

§ PER 24" PANEL



NOTE:
REFERENCE TYPICAL TRIM

- URETHANE SEALANT [HW-54
N HIP FLASHING [FL—___] [ -

@ CLOSURE ENDS (1/4” BEAD MIN.)

8/t

1/4-14 x 7/8 LONG-LIFE LAPTEK

[Ri-BEAD, TAPE SEALER W/WASHER [FASTENER #4]@ 6" 0.C.

[HW-504]
ZEE CLOSURE [FL-360]
mﬁ%\ggc cup (FIELD CUT TO LENGTH &

DOUBLE-LOK PANEL BEVEL CUT TO FIT PANEL)

5 x 3 x 16 GA. BACK-UP
ANGLE

8 x 5/8 NIBBED DRILLER
BEARING PLATE [@FAEE[N)_ECE #24] (RN\%\TD E\QS%ACT‘\)ON
[HW=7500] TRI-BEAD TAPE SFALER [HW-504]

METAL DECK CONT. ACROSS PANEL VAPOR BARRIER
(MIN. GAUGE THICKNESS) (NOT BY MBCI)

(NOT BY MBCI)

14-10 x ___ DECK
SCREW [FASTENER #15_]
(2) PER CLIP

(MIN. 3/4” PENETRATION
INTO METAL DECK)




1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (3) PER PANEL

URETHANE SEALANT [HW-54_]

FgEfE FL?SH‘NG @ CLOSURE ENDS/PANEL RIB

- & LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

OUTSIDE CLOSURE
[HW—-430] 24" PANEL
[HW-432] 18" PANEL
[HW-442] 12 PANEL

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4] SPACED
1°1/2" FROM PANEL SEAMS, W/
INTERIOR FASTENERS CENTERED
OVER MINOR RIBS (7" 0.C. MAX.)
(NO FASTENER @ PANEL SEAM)
TRI-BEAD TAPE SEALER [HW-504]
LOW SLIDING CLIP [HW-2122]
BEARING PLATE [HW-7500]
DOUBLE-LOK PANEL

8/

BACKUP PLATE

[HW-7760] 24" PANEL
[HW—7769] 18" PANEL
[HW-7761] 12" PANEL

RIGID INSULATION TRI-BEAD TAPE SEALER [HW-504] 14-10 x DECK
(NOT BY MBCI) CONT. ACROSS PANEL SCREW [FASTENER #15_]
VAPOR BARRIER 1/4-14 x 5/8 LONG-LIFE (2) PER CLIP
(NOT BY MBCI) 'T;PE B’ SE[LF—TAPPER# | (MIN. 3/4” PENETRATION
W/WASHER [FASTENER #46 INTO METAL DECK
(MME\LALGEE(C;E THICKNESS) @ PRE-PUNCHED HOLES )
(Nof BY MEC) 6) PER 24" PANEL
5) PER 18" PANEL

4) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS



1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4] SPACED
1°1/2" FROM PANEL SEAMS, W/
INTERIOR FASTENERS CENTERED
OVER MINOR RIBS (7" 0.C. MAX.)
(NO FASTENER @ PANEL SEAM)
TRI-BEAD TAPE SEALER [HW-504]
LOW SLIDING CLP [HW-2122]
BEARING PLATE [HW-7500]

DOUBLE-LOK PANEL:

/s

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBC)

METAL DECK
(MIN. GAUGE THICKNESS)

(NOT BY MBCI)

»

RIDGE FLASHING [FL—___]

¢

CUT AND REMOVE RIGID
INSULATION AS SHOWN

BACKUP PLATE

[HW—7760] 24" PANEL
[HW-7769] 18" PANEL
[HW=7761] 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]

CONT. ACROSS PANEL
1/4-14 x 5/8 LONG-LIFE
TYPE B' SELF-TAPPER
W/WASHER [FASTENER #46]
@ PRE-PUNCHED HOLES
6} PER 24" PANEL

5) PER 18" PANEL

4) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

12
]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (3) PER PANEL

URETHANE SEALANT [HW-54_]

@ CLOSURE ENDS/PANEL RIB

& LAPPING CLOSURE TABS TO

SEAL ALL VOIDS

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.

PERFORATED VENT DRIP [FL-254]

OUTSIDE CLOSURE
[HW-430] 24" PANEL
[HW-432] 18" PANEL
[HW-442] 12" PANEL

14-10 x ___ DECK
SCREW [FASTENER #15_]
(2) PER CUP

(MIN. 3/4” PENETRATION
INTO METAL DECK)



1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4] SPACED
1°1/2" FROM PANEL SEAMS, W/
INTERIOR FASTENERS CENTERED
OVER MINOR RIBS (7" 0.C. MAX.)
(NO FASTENER @ PANEL SEAM)

TRI-BEAD TAPE SEALER [HW-504]

LOW SLIDNG CLIP [HW-2122] e
BEARING PLATE [HW-7500] ‘

DOUBLE-LOK PANEL

8/¢

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)

<&

CUT AND REMOVE RIGID
INSULATION AS SHOWN

BACKUP PLATE

[HW—=7760] 24" PANEL
[HW—-7769] 18" PANEL
[HW=7761] 12" PANEL

12
]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W /WASHER
[FASTENER #1E] (3) PER PANEL

RIDGE FLASHING URETHANE SEALANT [HW-54_]
[Fle___] @ CLOSURE ENDS/PANEL RIB

& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS
1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6” 0.C.
METAL VENT MATERIAL [HW-525]
OUTSIDE CLOSURE
[HW-430] 24" PANEL
[HW-432] 18" PANEL
[HW-442] 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]

CONT. ACROSS PANEL

1/4-14 x 5/8 LONG-LIFE
"TYPE B’ SELF-TAPPER
W/WASHER [FASTENER #46]
@ PRE-PUNCHED HOLES
6) PER 24" PANEL

5) PER 18" PANEL

4) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

14-10 x ___ DECK
SCREW [FASTENER #15_]
(2) PER CLIP

(MIN. 3/4" PENETRATION

INTO METAL DECK)



TRI-BEAD TAPE SEALER [HW-504]

0/0 DIMENSION

LOW RAKE SUPPORT ANGLE
[HW-7710]

SCULPTURED RAKE TRIM
[SF—___]

(SEE PLAN)

1/4-14 x 7/8 LONG-LIFE LAPTEK

DOUBLE-LOK PANEL

2 x 4 x 16 GA. ANGLE /

3/8"

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
[FASTENER #16]@ 12" O.C.

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

RAKE SLIDE TRIM [F215]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" 0.C.

OUTSIDE CLOSURE/

WALL PANEL——

W/WASHER [FASTENER #4]@ 6” 0.C.
TRI-BEAD TAPE SEALER [HW-504]
PARAPET RAKE CLEAT [F292]
1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

[FASTENER #1E]'@ 24" 0.C.

* \

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)

(NOT BY MBCI)

1/4=14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24” 0.C.
(CENTERED IN SLOT)

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS




1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER i/WASHER
[FASTENER #1E]'@ 24” 0.C.

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" O.C.

TRI-BEAD TAPE SEALER [HW-504]

LOW RAKE SUPPORT ANGLE
[HW=7710]

2 x 4 x 16 GA. ANGLE

SCULPTURED RAKE TRIM
[FL-111]

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
[FASTENER #16]@ 12" 0.C.

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

RAKE SLIDE TRIM [F215]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" O.C.

OUTSIDE CLOSURE
WALL PANEL———

0/0 DIMENSION

(SEE PLAN)

DIM.

[FL-117]

[HW-504]

TRI-BEAD TAPE SEALER

VARIABLE TERMINATION TRIM

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]'@ 24" 0.C.
(MUST SCREW T0 CLIP)

LOW SLIDING CLIP [HW-2122]
(FIELD SEAM TO PANEL)

BEARING PLATE [HW—7500]

/DOUBLELOK PANEL

3/8"

14-10 x __ DECK SCREW
[FASTENER #15_]

Ez) PER CLIP

MIN. 3/4” PENETRATION

INTO METAL DECK)

1/4=14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24" 0.C.
(CENTERED IN" SLOT)

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

\

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)



0/0 DIMENSION

LOW RAKE SUPPORT ANGLE
"HW-7710]

2 x 4 x 16 GA. ANGLE

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
[FASTENER #16] @ 12" 0.C.

SCULPTURED RAKE TRIM
[FL-111]

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

RAKE SLIDE TRIM [F215]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" 0.C.

OUTSIDE CLOSURE
WALL PANEL—————

(SEE PLAN)

TRI-BEAD TAPE SEALER [HW-504]

/1/444 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

[FASTENER #1E] @ 24” 0.C.
/ \

DOUBLE-LOK PANEL

3/8"

1/4-14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24” 0.C.
(CENTERED IN' SLOT)
STRUCTURAL ANGLE

(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)



FIELD SAWCUT
—

PARAPET WALL (NOT BY MBCI)—=—f

14-10 x 2 DECK SCREW ——
[FASTENER #209] @ 24" O.C.

AR

(PRE-DRILL)
TRI-BEAD TAPE SEALER

[HW-504]

LOW RAKE SUPPORT ANGLE

0/0 DIMENSION

11/2"

MIN.

(SEE PLAN)

CONT. URETHANE SEALANT
[HW-54_]

COUNTERFLASH [FL-341]
PARAPET RAKE FLASHING
[FL-285]

TRI-BEAD TAPE SEALER
[HW-504]

PARAPET RAKE CLEAT [F292]
1/4=14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER
el [FASTENER #1E]'@ 24" 0.C.

[HW-7710]

BEARING PLATE [HW-7500]
@ 24" 0.C.

L No
\FASTENERS

DOUBLE-LOK PANEL

1/4=14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24" 0.C.
(CENTERED IN"SLOT)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

3/877

14-10 x __ DECK SCREW
[FASTENER #15_]

@ 24" 0.C.

(MIN. 3/4" PENETRATION

INTO METAL DECK)

STRUCTURAL ANGLE
(NOT BY MBCI)

M\/APOR BARRIER

(NOT BY MBCI)

RIGID INSULATION
(NOT BY MBCI)

METAL DECK
(MIN. GAUGE THICKNESS)
(NOT BY MBCI)



0/0 DIMENSION
(SEE PLAN)

EXISTING STRUCTURE
(NOT BY MBCI)

~— WALL PANEL

1214 x 1 1/4 LONG-LIFE SELF-
| DRILLER W/WASHER [FASTENER #3]

INSIDE CLOSURE
—— PARAPET RAKE FLASHING

[FL-285]
o / TRI-BEAD TAPE SEALER
3 [HW-504]
= PARAPET RAKE CLEAT [F292]
- | J / 1/4-14 x 1 1/4 LONG-LIFE
= SELF-DRILLER W/WASHER
— [FASTENER #1E] @ 24" 0O.C. DOUBLE-LOK PANEL
LOW RAKE SUPPORT ANGLE o
HW-7710
[ J \j\fASTENERS
14 GA. RAKE ANGLE [CF-?] —
1/4-14 x 1 1/4 SHOULDER | g s
TEK 2 SELF-DRILLER | =
[FASTENER #5] @ 24" O.C.
(CENTERED IN SLOT) \
NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

M\/APOR BARRIER

STRUCTURAL ANGLE (NOT BY MBCI)
(NOT BY MBCI)
RIGID INSULATION

B L LULUL UL UL L

11/2 14-10 x __ DECK SCREW
MIN. [FASTENER #15_] (NOT BY MBCI)
@ 24" 0.C. (PRE-DRILL METAL DECK
STRUCTURAL ANGLE AS REQ'D.) (MIN. GAUGE THICKNESS)

(NOT BY MBCI)



2" LONG TRI-BEAD TAPE

TRI-BEAD TAPE SEALER

AROUND TOP OF CLOSURE SEALER @ PANEL RIBS OVER

[HW-504] MINOR RIB TAPE SEALER INSIDE CLOSURE [HW-504]
AT ALL MINOR RIBS 1/4-14 x 1 1/4 LONG-LIFE

1/4-14 x 1 SELF-DRILLER HW—512

W/WASHER [FASTENER #1]
DETAIL A

SELF-DRILLER W/WASHER
[FASTENER #1E] (2) PER RIB

METAL INSIDE CLOSURE
[HW-426]

(2) PER CLOSURE
DOUBLE—LOK PANEL

TRIPLE BEAD TAPE SEAL
[HW-502]

VALLEY TRIM
[FL-702]

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #12A]

METAL DECK o
(MIN. GAUGE THICKNESS) - 1, @ 5-0" OL.
(NOT BY MBCI) VALLEY SUPPORT PLATE RIGID INSULATION
14-10 x ___ DECK NOTE: (MIN. 16 GA.) (NOT BY MBCI)
SCREW [FASTENER #15_] REFERENCE TYPICAL TRIM [CF-7] VAPOR BARRIER
@ 24" 0. LAP SECTIONS LOW EAVE PLATE [HW-7600] (NOT BY MBCI)
(MIN. 3/4” PENETRATION (FOR SUPPORT ONLY-
INTO METAL DECK) DO NOT ATTACH SUPPORT

PLATE)

TRIPLE BEAD TAPE SEAL
[HW-502]

\ 1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W,/ WASHER
1/4-14 x 1 1/4 LONG-LIFE /([[ [FASTENER #WEJ/@ 7 0c
SELF-DRILLER W/WASHER
[FASTENER #1E] (2) PER RIB METAL INSIDE CLOSURE
D [HW—426]
[l ‘@}
BEVELED EDGE
OF ROOF PANEL
ADDT'L. 8" LONG P\ECE/ 9
OF TRIPLE BEAD [HW—502]

TAPE SEALER UNDER
INSIDE CLOSURE

DETAIL "A



2" LONG TRI-BEAD TAPE

TRI-BEAD TAPE SEALER SEALER @ PANEL RIBS OVER

’[\ESEEMOP OF CLOSURE MINOR RIB TAPE SEALER INSIDE CLOSURE [HW-504]
AT ALL MINOR RIBS 1/4-14 x 1 1/4 LONG-UIFE

1/4-14 x 1 SELF-DRILLER HIi-512 SELF-DRILLER W/WASHER

[FASTENER #1E] (2) PER RIB

METAL INSIDE CLOSURE
[HW-426]

W/WASHER [FASTENER #1]
(2) PER CLOSURE

DOUBLE-LOK PANEL DETA‘L A

O

TRIPLE BEAD TAPE SEAL
[HW-502]

'l
A

VALLEY TRIM
[FL-708]

i RIGID INSULATION
12-14 x 1 PANCAKE HEAD (NOT BY MBCI)

SELF-DRILLER [FASTENER #12A] \(/APOR BARR\E)R
NOT BY MBCI

@ 5'-0" 0.C.
14-10 x ___ DECK NOTE: LOW EAVE PLATE [HW-7600] METAL DECK
SCREW [FASTENER #15_] REFERENCE TYPICAL TRIM (FOR SUPPORT ONLY- (MIN. GAUGE THICKNESS)
@ 24" OC. LAP SECTIONS DO NOT ATTACH SUPPORT (NOT BY MBCI)
(MIN. 3/4" PENETRATION PLATE)
INTO METAL DECK) VALLEY SUPPORT PLATE
(MIN. 16 GA.)
[CF-7]

TRIPLE BEAD TAPE SEAL
[HW-502]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 3" 0.C.

METAL INSIDE CLOSURE

1/4-14 x 1 1/4 LONG-LIFE I
SELF-DRILLER W/WASHER \

[FASTENER #1E] (2) PER RIB i [HW—426]
Kl K©)
A
BEVELED EDGE
OF ROOF PANEL

ADDT'L. 8" LONG P\ECE/ i @/

OF TRIPLE BEAD [HW-502]
TAPE SEALER UNDER
INSIDE CLOSURE

DETAIL "A”



	DS-ELP-01-V1
	DS-ELP-02-V1
	DS-ESJ-01A-V1
	DS-ESJ-02A-V1
	DS-EV-01A-V1
	DS-EV-01C-V1
	DS-EVG-01B-V0
	DS-HEV-01-V1
	DS-HEVP-01B-V1
	DS-HEVP-02B-V0
	DS-HEVP-03B-V1
	DS-HEVP-04B-V1
	DS-HP5-01C-V1
	DS-RG5-01C-V1
	DS-RG5-03C-V1
	DS-RG5-04C-V1
	DS-RK-01A-V1
	DS-RK-05A-V1
	DS-RK-07A-V0
	DS-RKP-01A-V1
	DS-RKP-02-V1
	DS-VL-04A-V1
	DS-VLE-04A-V1

